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end program First_Test

1 program First_Test i
2 I My first program |
3 J =1 :
4 K =3 3
s L =2xJ + K }
¢ J = 3%xJ + 2%L 92 om sl S Az STy clind § el s da
7 K=K+ 2 | .10
s L =J+ K+ L 1
s printx, J, K, L
10 stop |
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I Test of sum and product of
numbers

I=19

J=5

MS=I+J+K ) d dala)
MP=T#J*K

print*,I,J,K,MS,MP
STOP
END
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program Test
read*,a,b,c,d,e
s=a+b+c+d+e
print*,a,b,c,d,e
print*,s

end program Test
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program Area

read*,B,H

Area=(Bx*H) /2.0
print*,"B=",B,"H=",H,"Area=",Area
end program Area
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program GuessMyAim
integer :: I
I=1
99 write(*,*x) I
I=T + 1
go to 99
end program GuessMyAim
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program GuessWhatIprint

N=1

K=N*N

print*,N,K

N=N+2

if (N<10) go to 31

end program GuessWhatIprint
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program checkme

! there is/are something(s)
wrong with this program

I find out what and correct it

real :: a, b, c

a = -10.0

b = 23.5

c = axb

d

print *,'What is wrong with
this?

print *, 'Nothing now..'

print *, c is, c

write(*,*) "d = ",d

!

end program checkme
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A &= B

program whatIprint
integer :: i,n=0
do i=1,6

enddo
write(*,*x) "n = ",n
end program whatIprint
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program test 3
integer :: i 1
doi =1, 5
if (i == 3 ) cycle : el g AUl eVl § sus
WRITE (*,*) i 1
enddo 3 dal> J=Ib dodadll daais @3 13)
write (*,*) 'End of loop!' 3 Wl B9l daais Jasiy geliadl Ol dgne [
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do i =1, 5 | Aaed! am e Jol e lela) Goleddadll daass 1 I8
if (i == 3 ) exit 1 B pdiles
WRITE (*,%) i 1
enddo 1
write (*,*) 'End of loop!' 3
end program test l
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End of loop!

End of loop!
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do
do
do
do
do
do

index = 5, 10

j =17, 10, -1

index = 1, 10, 10
loop_counter = -2, 10, 2
time = -5, -10, -1
i=-10, -7, -3
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loopl: do i =1, 10
loop2: do j = i, 10
loop3: do k = 1, j
end do loop3
end do loop2
end do loopl
o3

loopx: do i =1, 10

loopy: do j =1, 10

end do loopx
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Loopl: do i =1, 10
loop2: do j 1, 10
loop3: do i = i, j
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end do loop3
end do loop2
end do loopl

end do loopy

program test

character(len=8) :: a, b, c

a = 'ABCDEFGHIJ' zelll Juis &lg L ayb,c Olitell digoin bo s>
b = '12345678" FTREN]
c = a(5:7) -

b(7:8) = a(2:6) Ond}b|@)>:Axuty54pmd\ggdlcdg|ﬂ
end program test oleld sl xe Hlall Ll @ 7l dgb

program test

character (len=10) :: a
character(len=8) :: b, c

a = 'ABCDEFGHIJ'

b = '12345678"'

c = a(1:3) // b(4:5) // a(6:8)

end

program test
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irange
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-2, 0
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